
 

 

Answer on Question #48259 – Math –Calculus 

Question: 

Consider the concentration, 𝐶, (in mg/liter) of a drug in the blood as a function of the amount of 

drug given, 𝑥, and the time since injection, 𝑡. For 0 ≤ 𝑥 ≤ 5 mg and 𝑡 ≥ 0 hours,  

we have  

𝐶 = 𝑓(𝑥, 𝑡) = 24 ⋅ 𝑡 ⋅ 𝑒−(5−𝑥)𝑡 

Find 𝑓(1,3). 

Solution: 

 𝑓(1,3) means that we have to find the concentration 𝐶 of a drug in the blood of the amount given 

𝑥 = 1 mg since the time 𝑡 = 3 hours after injection. Therefore, we obtain 

𝐶 = 𝑓(1,3) = 24 ⋅ 3 ⋅ 𝑒−(5−1)⋅3 = 72 ⋅ 𝑒−12 ≅ 0.00044 
mg

liter
   

Answer:  

𝐶 = 𝑓(1,3) = 72 ⋅ 𝑒−12 ≅ 0.00044 
mg

liter
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